plle h FI.I BLOCK 2.0

Pull Out Version - PBR A

Assembly Instructions

Instrucciones de montaje / Instructions d'assemblage
PBR A4730A - PBR A4745A - PBR A4760B

TOOLS REQUIRED
HERRAMIENTAS NECESARIAS
OUTILS NECESSAIRES

QSSSS ]
w | [5%)
N =

ESTIMATED ASSEMBLY TIME
TIEMPO ESTIMADO DE MONTAJE 30
TEMPS D'ASSEMBLAGE ESTIME min

Elletipi Inc.
30 Chapin Road - Suite 1205
Pine Brook, NJ 07058

h | A 1509001 & I V%—*
B N S| >
;@ m/ A\ BUREAU VERITAS | M
8 Certification
et h s

California Residents:
WARNING: Cancer and Reproductive Harm

www.P65Warnings.ca.gov

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com Vers. 2021-01-BLOCK2.0 | page 1 0f9



ellefipy

BLOCK 2.0
Pull Out Version - PBR A

PART LIST
LISTA DE PIEZAS / LISTE DES PIECES

Description Qty.

A | Left Slide 1
Guia izquierda / Coulisse gauche

B | Right Slide 1
Guia derecha / Coulisse droite

C | Spacers 2
Espaciadores / Entretoises

D | Metal Structure 1
Estructura metalica / Structure métallique

E | Left Door Bracket 1
Soporte puerta izquierda / Support porte gauche

F | Right Door Bracket 1
Soporte puerta derecha / Support porte droit

G | LeftCap 1
Tapén izquierda / Couvercle gauche

H | Right Cap 1
Tapon derecho / Couvercle droite
| | Bin -
Bin/ Seau

L | M4 Nut ) 2
Tuerca M4 / Ecrou M4

M | M4 Bolt 2
Tornillo M4 / Vis M4

N | Washer 2
Arandela / Rondelle

0 | 15/64” Screw 14
Tornillo de 15/64” / Vis 15/64”

BINS INFORMATION

INFORMACION DE LOS CUBOS DE BASURA
INFORMATIONS SUR LES SEAUX

The number of bins is variable for each model of product. The
number of bins for all products are shown on the final page of
these instructions.

El nimero de los cubos es variable para cada modelo de
producto.

El nimero de los cubos para todos los productos se muestra
en la pagina final de estas instrucciones.

Le nombre de seaux est variable pour chaque modele de
produit. Le nombre de seaux pour tous les produits est indiqué
a la derniére page de ces instructions.

D(X1) E(X1)

F(X1) H(X1)

L(X2) M(X2) N(X2) 0(X14)

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com

Vers. 2021-01-BLOCK2.0 | page 2 0f 9


utente
Evidenziato


ellefipy

BLOCK 2.0
Pull Out Version - PBR A

MEASUREMENT
MEDICION / MESURE

Measure the internal dimensions of the cabinet. Check that the
internal dimensions of the cabinet are compatible with the
width and depth of the purchased product. Each model of
product is compatible with 2 slightly differents cabinet’s widths
indicated as W1 and W2. Width and depth of all products and
compatible cabinet’s widths dimensions are shown in the last
page of these instructions.

Mida las dimensiones internas del meuble. Verifique que las
dimensiones internas del meuble sean compatibles con el
ancho y la profundidad del producto comprado. Cada modelo
de producto es compatible con 2 anchos de meuble
ligeramente diferentes indicados como W1y W2.

El'ancho y la profundidad de todos los productos y las
dimensiones de los anchos de los meubles compatibles se
muestran en la Ultima pagina de estas instrucciones.

Mesurer les dimensions intérieures du meuble. Vérifiez que les
dimensions intérieures du meuble soient compatibles avec la
largeur et la profondeur du produit acheté. Chaque modéle de
produit est compatible avec 2 largeurs de meuble légerement
différentes indiquées par W1 et W2. La largeur et la profondeur
de tous les produits et les dimensions des largeurs des
meubles compatibles sont indiquées a la derniére page de ces
instructions.

DRILLING LAYOUT
DISENO DE PERFORACION / SCHEMA DE PERCAGE

Sign 4 drilling point on both sides of the cabinet following the
dimensions as indicated in the picture.

Realize 4 preholes on both side of the cabinet to facilitate the
subsequent fixing of the screws.

Signas 4 puntos de perforacién a ambos lados del meuble
siguiendo la dimensién indicada en la imagen.

Realice 4 orificios a ambos lados del armario para facilitar la
fijacion posterior de los tornillos.

Marquez 4 points de percage a chaque coté du meuble en
suivant la dimension indiquée sur la photo.

Réaliser 4 pré-trous a chaque c6té du meuble pour faciliter la
fixation suivante des vis.

di: 161/8” (410 mm)
d2: 25/32” (20 mm)
d3: 131/32” (50 mm)
d4: 627/32” (174 mm)
d5: 131/32” (50 mm)
D: 3/32” (2 mm)
L: 13/64” (5 mm)

g

3'
32
g
2

d3

Pre Holes Dimensions
Dimensiones de los agujeros previos
Dimensions des pré-trous

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com

Vers. 2021-01-BLOCK2.0 | page 3 0f9


utente
Evidenziato


plle I'I FI.I BLOCK 2.0

Pull Out Version - PBR A

STEP 1
PASO 1/ ETAPE 1

Fix the left slide (A) using 4 provided 15/64” screws.

For cabinet’s width W2 it is necessary to mount the the
optional component (C) between the slide and the cabinet
wall.
Coloque la guia (A) con los 4 tornillos suministrados 15/64”. O O
Para el ancho del armario W2 es necesario montar el s
~N

componente opcional (C) entre la guia y la pared del armario. /
Fixez la coulisse gauche (A) avec les 4 vis 15/64” fournies. o~ ~ ' S
Pour la largeur de 'armoire W2, il est nécessaire de monter h 22 °
I'¢lément optionnel (C) entre la coulisse et la paroi de g \\,
['armoire. ®

di

A (X1), 0 (X4), C (X1) optional

Fu

STEP 2
PASO 2/ ETAPE 2

Fix the left slide (B) using 4 provided 15/64” screws. For

cabinet’s width W2 it is necessary to mount the the optional

component (C) between the slide and the cabinet wall.

Fije la guia izquierda (B) con los 4 tornillos suministrados

15/64”, OO@®
Para el ancho del armario W2 es necesario montar el

componente opcional (C) entre la guia y la pared del armario. P .

f H A Pai ; ” H \ ~
Fixez la coulisse gauche (B) a 'aide des 4 vis 15/64” fournies. . b o
Pour la largeur du meuble W2, il est nécessaire de monter 4
I'¢lément optionnel (C) entre la coulisse et la paroi du meuble. ,/7/

@

~u

B (X1), 0 (X4), C (X1) optional

di

Fu

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com Vers. 2021-01-BLOCK2.0 | page 4 of 9



plle I'I FI.I BLOCK 2.0

Pull Out Version - PBR A

STEP 3
PASO 3/ETAPE 3

D (X1)

Pull out the slides and insert the metal structure (D). Fix
the metal structure on the back of both slides as
indicated in the picture, than push the structure on the
front. When you hear “click” the structure is fixed.

Extrae las correderas y inserte la estructura metalica
(D). Fije la estructura metalica en la parte posterior de
ambas guias como se indica en la imagen, luego
empuie la estructura hacia el frente. Cuando escuche un
“clic”, la estructura se arreglara.

Sortez les glissieres et insérez la structure métallique
(D). Fixez la structure métallique au dos des deux
coulisses comme indiqué sur l'image, puis poussez la
structure sur le devant. Lorsque vous entendez un «clic»,
la structure est fixée.

STEP 4
PASO 4/ ETAPE 4

Measure the height and width of the cabinet and the door
panel. Calculate the differences in height (P1) and width

(P2) between the cabinet and the door panel.Calculate the
dimensions d6, d7 and sign 4 drilling point as indicated in the
picture. Realize 4 preholes on the doorpanel to facilitate the
subsequent fixing of the screws.

a7

Mida la altura y el ancho del gabinete y del panel de la puerta.
Calcule las diferencias de altura (P1) y ancho (P2) entre el
armario y el panel de la puerta. Calcule las dimensiones d6,
d7'y signe el punto de perforacién 4 como se indica en la
imagen. Realice 4 agujeros en el panel de la puerta para d8
facilitar la posterior fijacion de los tornillos.

Mesurez la hauteur et la largeur du meuble et du panneau de
la porte. Calculez les différences de hauteur (P1) et de largeur d6
(P2) entre le meuble et le panneau de la porte. Calculez les —
dimensions d6, d7 et marquez le point de percage 4 comme
indiqué sur 'image. Réaliser 4 pré-trous sur le panneau de P2
porte pour faciliter la fixation ula suivante des vis.
dé: P1+181/2”

P1 + 470 mm) | P1
d7: P2+11/27 (P2 +38mm) ﬁ ;IJ

(
(
d8: 55/16” (135 mm)
(
(

D: 3/32” 2 mm)
L: 13/64” 5 mm)

/s
32
%

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com Vers. 2021-01-BLOCK2.0 | page 50f9



ellefipy

BLOCK 2.0
Pull Out Version - PBR A

STEP 5
PASO 5/ETAPE 5

Fix the left bracket (E) using 2 provided 15/64” screws
without tightening the screws.

Fix the right bracket (F) using 2 provided 15/64”
screws without tightening the screws.

Fije el soporte izquierdo (E) con 2 tornillos de 15/64”
suministrados sin apretar los tornillos.

Fije el soporte derecho (F) con 2 tornillos de 15/64”
suministrados sin apretar los tornillos.

Fixez le support gauche (E) a 'aide des 2 vis 15/64” fournies
sans serrer les vis.

Fixez le support droit (F) & I'aide des 2 vis 15/64” fournies
sans serrer les vis.

G

d7
d8
E (X1), 0 (X2)
d8
F (X1),0 (X2)

STEP 6
PASO 6/ETAPE 6

Hang the door on the structure and place the door to the centre
of the cabinet.

When the door is in the correct position tighten the 4 previous
mounted screws at Step 5 (2 for each bracket).

Fix 2 other provided 15/64” screws (1 for each bracket).

Cuelga la puerta en la estructura y coléquela en el centro del
gabinete.

Cuando la puerta esté en la posicion correcta, apriete los 4
tornillos montados anteriormente en el Paso 5 (2 para cada
soporte).

Fije otros 2 tornillos de 15/64 "provistos (1 para cada soporte).

Accrochez la porte sur la structure et placez la porte au centre
du meuble.

Lorsque la porte est dans la bonne position, serrez les 4 vis
montées précédemment & I'Etape 5 (2 pour chaque support).
Fixez 2 autres vis 15/64” fournies (1 pour chaque support).

G

Left - Right Regulation
Regulacion izquierda - derecha
Gauche - Droite Régulation

0 (X1)

0 (X1)

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com

Vers. 2021-01-BLOCK2.0 | page 6 0f 9



ellefipy

BLOCK 2.0
Pull Out Version - PBR A

STEP 7
PASO 7/ETAPE 7

Use a #2 screw driver to turn the 2 eccentric pin on the left
side of the metal structure for the horizontal and vertical
regulation until to determinate the correct inclination and the
correct height of the door. After have determinate the correct
position of the door block the leftbracket (E) to the structure (D)
by using the provided bolt (M), lock washer (N) and nut (L) as
indicated in the picture.

Utilice un destornillador #2 para girar el 2 pasador excéntrico
del lado izquierdo de la estructura metdlica para la regulacion
horizontal y vertical hasta determinar la inclinacion correcta y
la altura correcta de la puerta. Después de haber determinado
la posicion correcta del bloque de la puerta, bloquee el soporte
izquierdo (G) a la estructura (D) utilizando el tornillo (M)
provisto, la arandela de seguridad (N) y la tuerca (L) como se
indica en la imagen.

Utilisez un tournevis #2 pour tourner les 2 axes excentriques
sur le coté gauche de la structure métallique pour la réglage
horizontal et vertical jusqu’a déterminer la bonne inclinaison et
la bonne hauteur de la porte. Aprés avoir déterminé la position
correcte de la porte, bloquez le support gauche (G) a la
structure (D) en utilisant la vis (M), la rondelle de blocage (N)
et I'écrou (L) fournis comme indiqué sur I'image.

CICEe
X1

Horizontal Regulation

Regulacién horizontal / Régulation horizontal

Vertical Regulation

Regulacion vertical / Régulation vertical

Neutral Position
Posicion neutral
Position neutre

Fix Door Position
Fijar posicion de puerta
Fixer position de la porte

L (X1), M (X1), N (X1)

STEP 8
PASO 8/ETAPE 8

Use a #2 screw driver to turn the 2 eccentric pin on the right
side of the metal structure for the horizontal and vertical
regulation until to determinate the correct inclination and the
correct height of the door. After have determinate the correct
position of the door block the leftbracket (F) to the structure (D)
by using the provided bolt (M), lock washer (N) and nut (L) as
indicated in the picture.

Utilice un destornillador #2 para girar el 2 pasador excéntrico
del lado derecho de la estructura metdlica para la regulacion
horizontal y vertical hasta determinar la inclinacion correcta y
la altura correcta de la puerta. Después de haber determinado
la posicion correcta del bloque de la puerta, bloquee el soporte
izquierdo (G) a la estructura (D) utilizando el tornillo (M)
provisto, la arandela de seguridad (N) y la tuerca (L) como se
indica en la imagen.

Utilisez un tournevis #2 pour tourner les 2 axes excentriques
sur le coté droit de la structure métallique pour la régulation
horizontale et verticale jusqu’a déterminer la bonne inclinaison
et la bonne hauteur de la porte. Apres avoir déterminé la
position correcte de la porte, bloquez le support gauche (G) a
la structure (D) en utilisant la vis (M), la rondelle de blocage (N)
et I'écrou (L) fournis comme indiqué sur 'image.

CICEe
X1

Horizontal Regulation

Regulacion horizontal / Régulation horizontal

Vertical Regulation

Regulacion vertical / Régulation vertical

Neutral Position
Posicion neutral
Position neutre

Fix Door Position
Fijar posicién de puerta
Fixer position de la porte

L (X1), M (X1), N (X1)

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com

Vers. 2021-01-BLOCK2.0 | page 7 of 9



ellefipy

BLOCK 2.0

Pull Out Version - PBR A

STEP 9
PASO 9/ETAPE 9

Fit the left cap (G) on the metal structure as indicated on the
picture.

Fit the right cap (H) on the metal structure as indicated on the
picture.

Coloque el tapén izquierdo (G) en la estructura metdlica como
se indica en la imagen.

Coloque el tapén derecho (H) en la estructura metélica como
se indica en la imagen.

Montez le couvercle gauche (G) sur la structure métallique
comme indiqué sur l'image.

Monter le couvercle droit (H) sur la structure métallique
comme indiqué sur l'image.

G (X1)

H (X1)

STEP 10
PASO 10 / ETAPE 10

Insert the bin (or the bins) inside the seat.
Inserte el cubo (o los cubos) en su sede.

Insérez le seau (ou les seaux) a l'intérieur de leur logement.

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com

Vers. 2021-01-BLOCK2.0 | page 8 0of 9



BLOCK 2.0
Pull Out Version - PBR A

PBR A4730A

Height / Altura / Hauteur
211/116” (535 mm)

Depth / Profundidad / Profondeur
18 13/16” (478 mm)

Width / Ancho / Largeur
103/8” (263 mm)

Number of bins / Nr. de cubos / Nr. de seaux 1

Internal cabinet’s width

Ancho del gabinete interno / Largeur intérieure du meuble
W1:1013/32"  (264mm)

W2: 10 9/16” (268 mm)

PBR A4745A

Height / Altura / Hauteur
21116 (535 mm)

Depth / Profundidad / Profondeur
18 13/16” (478 mm)

Width / Ancho / Largeur
16 1/4” (413 mm)

Number of bins / Nr. de cubos / Nr. de seaux 2

Internal cabinet’s width

Ancho del gabinete interno / Largeur intérieure du meuble
W1:16 9/32” (414mm)

W2: 16 7/16” (418 mm)

PBR A4760B

Height / Altura / Hauteur
21 1/16" (535 mm)

Depth / Profundidad / Profondeur
18 13/16” (478 mm)

Width / Ancho / Largeur
221/8" (563 mm)

Number of bins / Nr. de cubos / Nr. de seaux 2

Internal cabinet’s width

Ancho del gabinete interno / Largeur intérieure du meuble
W1: 22 5/32” (564 mm)

W2: 22 5/16” (568 mm)

© ELLETIPIInc. | www.elletipiusa.com | customerservice@elletipiusa.com

Vers. 2021-01-BLOCK2.0 | page 9 of 9


utente
Evidenziato




